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2. ¥ iZAPKiE# AndroidKillerd R 4%, RmiFEER)E, EEFZRFE You are wrong, R ZFHFEMT
MainActivity.javad, B piR:

| @ | IR  Android 2]
I REEm ®mE | XT
2t | mE | m | #eEh |
[ i) ‘.n easyjava‘
| @ || ] MainActivity$1.smali
=8 - [
Uress Uresss WIsss ACIEFAAL YT @
EEFE: | | [3] MainActivity$1.smali -
you are wrong |«] 79 invoke-static {v0, vl, v2}, Landroid/widget/Toast;->makeText (Landroid/cona
80
w [+ 81 move-result-object v0
—_— 82
ﬁ.‘ | pi '| EE] invoke-virtual {v0}, Landroid/widget/Toast;->show()V
84
85 rgoto_0
BRTE: 8€ return-void
| 87
88 rcond_0
v EE iget-object v0, p0, Lcom/a/ java/MainActivity$l;->a:Landroid/content/C
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wEEE:
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i 88 Navigation {73 Debugger & FEE)
eH& s|fldc2|Pr 2R BFe X Tl B 2.0
“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy| ' Bytecode/Disassembly | [J] MainActivity/Source &3 | [X) me<Unb0und>‘ [} apk<Unbound>| =]
v 2 C:\Users\admin\Desktop\ v3.append(Mainhctivity.a(vZ.charht (v0) + ", v4, w5));
® . K Integer v6 = Integer.valueOf(v4.b().intValue() / 25);
¥ @ easyjava.ap) if(vE.intValue() > vl && v6.intvalue() >= 1) {
v [0 easyjava.apk ++vl;
[¥ Manifest }
&= Certificate
= ++v0;
» 1 Bytecode }
» = Resources
w0 1 = Boolean.valueOf (v3.toString().equals ("wigwrkaugala'));
1
return v0_1;
protected woid onCreate (Bundls argl) |
super.onCreats (arg3) ;
this.sstContentView (2130968603);
this.findViewById(2131427446) .setOnClickListener (new ViewSoOnClickListener (((Context)this)) |
public woid onClick(Visw argS) { —|
if (MainActivity.a(this.a.findViewById(2131427445) .getText () .toString()) .booleanvalu=s()) {
Toast.makeText (this.a, "You are right!", 1).show();
1
else {
Toast.maksText (this.a, "You are wrong! Bye~", 1).show();
new Timexr () .scheduls (new TimerTask() {
public void run() {
System.exit (1) ;
}
1, 2000);
1
1
i
1
1
>
Description {Sourcel
B Logger = } & Cunsole| - B
< > ~
v
|Fi|ter: type "Enter" to validate < >
T
coord: (0,11,0) | addr: Lcom/a/easyjava/MainActivity; | loc: ? | ‘
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i 88 Navigation {73 Debugger & FEE)
eH& s|fldc2|Pr 2R BFe X Tl B 2.0
“%. Project Explorer 23] ® = 0|® Bytecode]Hierarchy|'ﬁ‘ Bytecode/Disassembly [J] MainActivity/Source i3 [x me<Unbound>‘ [} apk<Unbound>| ¥ =08

~ 12 C\Users\admin\Desktop\* import android.support.v7.app-c;
. import android.view.View$0OnClickListener;
~ @ easyjava.apk

import android.view.View;

N @ Eﬂsyjﬂ‘fﬂ-ﬂpk import android.widgst.Toast; [ |
[ Manifest import java.util.Timer;
= Certi import java.util.TimerTask;
ertificate
» 7 Bytecode public class MainActivity extends c {
> (= Resources public MainActivity() {

super () ;

}

private static char a(sString argl, b arg2, a arg3) {
return arg3.afarg2.a(argl));

1

statie Boolean a(String argl) {
return MainZctivity.b(argl);
1

private static Boolean b(String arg8) {

Boolean v0_1;

int w0 = 0;

if(largB.startsWith("flag{")) {
wv0_1 = Boolean.valueOf (false);

1

else if(largf.endsWith("}")) {
v0_1 = Boolsan.valuesOf (false);

1

else |
String v2 = argf.substring(5, arg8.length() — 1);
b v4 = new b(Tnteger.valusof (2));
a v5 = new a(Integer.valueOf(3));
StringBuilder v3 = new StringBuilder();
int vl = 0;
while (v0 < v2.length()) {

< >

Description {Sourcel

B Logger Sﬂf—'(ﬁonsole| - B

< >

>

<

|Fi|ter: type "Enter" to validate <

coord: (0,11,0) | addr: Lcom/a/easyjava/MainActivity; | loc: ?




i 88 Navigation {73 Debugger & FEE)
cH& a0=ldeD R /R EF XD Dz p=l

“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy|'i Bytecode/Disassembly [J] MainActivity/Source i3 [x me<Unb0und>‘ [} apk<Unbound>| ¥ =08
v & C:\Users\admin\Desktop\X statie Boolean a(String argl) {
° . K return MainActivity.b(argl);
easyjav.a.ap }
v [0 easyjava.apk
[ Manifest private static Boolean b(String arg8) {
& Certificate Boolean w0_1;
- int w0 = 0;
» i Bytecode if (larghl.startsWith ("flag{")) {
> (= Resources v0_1 = Boolean.valusoOf (false);

1
else if(!largB.endsWwith("}")) {
v0_1 = Boolsan.valuesOf (false);
1
else |
String v2 = argf.substring(5, arg8.length() — 1);
b v4 = new b(Intsger.value0f(2));
a v5 = new a(Integer.valueof(3));
StringBuilder v3 = new StringBuilder();
int vl = 0;
while (v0 < v2.length()) {
v3.append(Mainhctivity.a(vZ.charht (v0) + ", v4, w5));
Integer w6 = Integer.valueOf(v4.b().intValue() / 25);
if (vE.intValus () > vl && vé.intValue() >= 1) {
++wl;

1

++v0;

}

v0_1 = Boolean.valueOf (v3.toString() .equals ("wigwrkaugala'));
1

return v0_1;

1

protected void onCreate (Bundle arg3) |
< >

Description {Sourcel

B Logger = } & Cunsole| - B

< >

>

<

|Fi|ter: type "Enter" to validate < >

coord: (0,11,0) | addr: Lcom/a/easyjava/MainActivity; | loc: ?

REZBNT —AbE, FHEANT —ASH2, MbRNKMWERKE LN - MEEHALESH, REEBZBEHHA,
EBHRBRRLERO B, XBEE2



i 88 Navigation {73 Debugger & FEE)
cH& a0=ldeD R /R EF XD Dz p=l

“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy|'i Bytecode/Disassembly [J] b/Source 2 | [x| me<Unbound>| @ apk<Unb0und>‘ ¥ =08
v & CAUsers\admin\Desktop\X import java.util.hArrayList; I_
 ® easyjavaapk public class b {
N @ Eﬂsyjﬂ‘fﬂ-ﬂpk public static ArrayList a;
¥ Manifest static String b;
&= Certificate totegerl] e;
- statie Integer d;
» 1 Bytecode

> (= Resources statie {

b.a

b.b = "abedefghijklmnopgrstuvwxyz";
.d = Integsr.valus0f (0);

= new Arraylist();

public b(Integer argd) {
supsr();
this.c = new Tnteger[]{Intsger.valueof(8), Int=ger.valueOf(25), Intsger.valueof(17), Integer.valusOf(23), Integes
int w0;
for(v0 = arg%.intValue(); v0 < this.c.length; ++v0) {
b.a.add(this.c[v0]);
1

for(v0 = 0; v0 < arg9%.intValue(); ++v0) {
b.a.add(this.c[v0]);
1
1

publie Intsger a(String argS) {
int w0 = 0;
Integer vl = Integer.valueCf(0);
if (b.b.contains(arg5S.toLowerCase())) {
Tnteger v2 = Tnteger.valusOf (b.b.indexOf (arg5));
while(v0 < b.a.size() - 1) {
if(k.a.get(v0) == w2) |
vl = Integer.valueCf(v0);

1
< >
Description {Sourcel
B Logger = } & Cunsole| - B
< > ~
|Fi|ter: type "Enter" to validate | < > v
coord: (0,4,0) | addr: Lcom/a/easyjava/b; | loc: ? | i

EREELBMLT —ta¥k, AT —ANSH3, MaXWWERBESbRMWERKEAMA, RAHRET .



i 88 Navigation {73 Debugger & FEE)
& &|HNAGCD LI 2D | BFe ]| XD ® 2.0
“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy|'i Bytecode/Disassembly [J] a/Source 2 [ me<Unbound>|® apk<Unbound>| ¥ =08
~ 12 C\Users\admin\Desktop\* static Intsgsr dj |
- @ easyjav.a.apk static [
v [0 easyjava.apk a.a = new ArrayList();
¥ Manifest a.b = "abcdefghijklmnopgrstuvwxyz"; ||
& Certificate a.d = Tnteger.valueOf (0);
1
» 1 Bytecode
» = Resources public a(Integer arg8) {
super () ;
this.c = new Integer[]{Integsr.valueCf(7), Intsger.valueCf(1l4), Integer.valuseOf(1l6), Integer.valueOf(21), Intege:
int w0;
for(vl = argB8.intValue(); v0 < this.c.length; ++v0) {
a.a.add(this.c[v0]);
1
for(v0 = 0; v0 < argB.intValue(); ++v0) {
a.a.add(this.c[v0]);
1
}
public char a(Intsger argS) {
char v0_1;
int w0 = 0;
Tnteger vl = Integer.valueOf (0);
if (arg5.intValue () == -10) {
a.al);
v 1 = " ".charAt(0);
1
else |
while(vD < a.a.size() - 1) {
if(a.a.gst(v0) == arg5) {
vl = Tnteger.valueOf (v0);
1
++v0;
< >
Description {Sourcel
B Logger SZ}E—'Cunsole| - B
£ > ~
v
|Fi|ter: type "Enter" to validate | < >
T
coord: (0,4,0) | addr: Lcom/a/easyjava/a; | loc: ?

2 JE R I R Z5F B RSN FR/, RJ)EH% FHHMainActivityd [ a(string,b,a) B&$R B B Sk 2= 55 5 & 3)
TEVINER, BHxERE, BEINFZRFEESZR/ S wigwrkaugala BB, HERNE, KB True, BHNKIE False.



i 88 Navigation {73 Debugger & FEE)
eH& a0=IHeD R /R EF XD Dz Rl

“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy|'i Bytecode/Disassembly [J] MainActivity/Source i3 [x me<Unb0und>‘ [} apk<Unbound>| ¥ =08

v = C:\USEFS\admin\Desktup\} static B-:-:lear} a(SFr:jLng argl) {
. return MainActivity.b(argl);
~ @ easyjava.apk

v [0 easyjava.apk

}

[X] Manifest private static Boolean b(String arg8) {
& Certificate Boolean w0_1;
=y int w0 = 0;

» 1 Bytecode if (larg8.startsWith("flag{"}) {

> (= Resources v0_1 = Boolean.valusoOf (false);

1
else if(!largB.endsWwith("}")) {
v0_1 = Boolsan.valuesOf (false);
1
else |
String v2 = argf.substring(5, arg8.length() — 1);
b v4 = new b(Intsger.value0f(2));
a v5 = new a(Integer.valueof(3));
StringBuilder v3 = new StringBuilder();
int vl = 0;
while (v0 < v2.length()) {
v3.append(Mainhctivity.a(vZ.charht (v0) + ", v4, w5));
Integer w6 = Integer.valueOf(v4.b().intValue() / 25);
if (vE.intValus () > vl && vé.intValue() >= 1) {
++wl;

1

++v0;

}

v0_1 = Boolean.valueOf (v3.to8tring() .equals ("wigwrkaugala'));

1
return v0_1;

protected void onCreate (Bundle arg3) |
< >

Description {Sourcel

1

B Logger = } & Cunsole| - B

< >

>

<

|Fi|ter: type "Enter" to validate <

coord: (0,49,73) | addr: Lcom/a/easyjava/MainActivity;->b(Ljava/lang/String;)Ljava/lang/Boolean;+11Ch | loc: ? | |

5. B R E MainActivityf] a(string,b,a) B, %R E Sk 1% R 1058 — A7/ 8 46 8 16 A bR alk B S Huds
A, RJEHRR B ERE S REAHEAaRaR B S HEN, RERE—DFR.



i 88 Navigation {73 Debugger & FEE)

GEH& &|OAHACD LI 2D | BFe ]| X082 0=

“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy|'i Bytecode/Disassembly [J] MainActivity/Source i3 [x me<Unb0und>‘ [} apk<Unbound>| ¥ =08

v 12 C\Users\admin\Desktop\X* package com.a.sasyjava;
~ @ easyjava.apk

import android.content.Context;

e @ easyjava.apk import android.os.Bundle;
[ Manifest import android.support.v7.app.c;
& Certificate import android.view.View30OnClickListener;

- import android.view.View;

> By‘tecode import android.widgst.Toast;
» = Resources import java.util.Timer;
import java.util.TimerTask;

public class MainActivity extends c {
publie MainRctivity () {
super(};

}

private static char a(sString argl, b arg2, a arg3) {
return arg3.afarg2.a(argl));

}

statie Boolean a(String argl) {
return MainZctivity.b(argl);
1

private static Boolean b(String arg8) {
Boolean v0_1;
int w0 = 0;
if(largB.startsWith("flag{")) {
w0 _1 = Boolean.valueOf (false);
1
else if(!largB.endsWwith("}")) {
w0_1 = Boolean.valueof (false);
1
else [
String v2 = argf.substring(5, arg8.length() — 1);
b v4 = new b(Integer.valueof(2)};

< >
Description {Sourcel
B Logger = } & Cunsole| - B
< > ~
|Fi|ter: type "Enter" to validate < > v

coord: (0,49,73) | addr: Lcom/a/easyjava/MainActivity;->b(Ljava/lang/String;)Ljava/lang/Boolean;+11Ch | loc: ? | |

FRELDEMaRE, ZRPELRBARRNFHEFRFELLIHRSG, RE/BELE Y EXNEREAS 5 &%
ZRIIMERNERATHRS, REHADEK a() Y, ZRBERAKORIBAESTFREEBL M, RFEREIZH
HES.



i 88 Navigation {73 Debugger & FEE)
cH& a0=ldeD R /R EF XD Dz p=l

“%. Project Explorer 23] ® = 0|® Bytecode]Hierarchy|'ﬁ‘ Bytecode/Disassembly 'Source £ | [X] me<Unbound>| @ apk<Unbound>‘ ¥ =08
v 12 C\Users\admin\Desktop\X* 1 |
 ® easyjavaapk for(v0 = 0; v0 < argS.intValue(); ++v0) {
v [0 easyjava.apk b.a.add(this.c[v0]);
[¥ Manifest 1
< Certificate !
» [ Bytecode public Integer a(Strinc args) |

> (= Resources int v0 = 0;
Integer vl = Integer.valueO£(0);
if (b.b.contains(arg5S.toLowerCase())) {
Integer v2 = Integer.valusOf(b.b.indexOf (arg5)); |
while(v0D < b.a.size() - 1) {
if(k.a.get(v0) == w2) |
vl = Integer.valueCf(v0);
1

++v0;
}
1
else |
if (argS.contains(" ")) {
vl = Integer.valueCf(-10);
goto labsl_24;
1

vl = Integer.valueOf(-1);
1

label 24:
b.al);
return vl;

1

public static void a() {
int v0 = b.a.get (0).intValue();
< >

Description {Sourcel

B Logger Sﬂf—'(ﬁonsole| - B

< >

>

<

|Fi|ter: type "Enter" to validate | < >

coord: (0,4,0) | addr: Lcom/a/easyjava/b; | loc: ?




i 88 Navigation {73 Debugger & FEE)
cH& a0=ldeD R /R EF XD Dz p=l

“%. Project Explorer 23] ® = 0|® Bytecode/Hierarchy|'i Bytecode/Disassembly [J] b/Source 2 | [x| me<Unbound>| @ apk<Unb0und>‘ = a8
v & C:\Users\admin\Desktop\* int w0 = 0;
° . K Integer vl = Integer.valueOf (0);
> easyjav.a.ap if (b.b.contains(arg5S.toLowerCase())) {
N @ Eﬂsyjﬂ‘fﬂ-ﬂpk Integer v2 = Integer.valusOf(b.b.indexOf (arg5));
# Manifest while(v0 < b.a.size() - 1) {
&= Certificate if(b.a.get(v0) == w2) {
- vl = Integer.valueCf(v0);
» 1 Bytecode }
» = Resources
++v0;
1
]
else |
if (argS.contains(" ")) {
vl = Integer.valueCf(-10);
goto labsl_24; ||
1
vl = Integer.valueOf(-1);
]
label 24:
b.al);
return vl;
1
public static void a() {
int v0 = b.a.get(0).intValus();
b.a.remove (0) ;
b.a.add(Integer.valusCf (v0) ) ;
b.b =b.b + "" + b.b.charAt(0);
b.b = b.b.substring (1, 27); -
b.d = Integer.valueOf (b.d.intValue() + 1);
1
public Integer b() {
< >
Description {Sourcel
B Logger = } & Cunsole| - B
£ > ~
v
|Fi|ter: type "Enter" to validate | < >

coord: (0,4,0) | addr: Lcom/a/easyjava/b; | loc: ?

BEAREaRTH a(int) BY, ZRPEERREAERNSBHFOHAPHENRS, RERDNEFHFEPR
SIAZHARSINFR, REREZFR, AR, Hh®iEl ) &8, BRZBBERET25, HUZRBEARELEMN

fER .



i 88 Navigation {73 Debugger & FEE)
eH& s|fldc2|Pr 2R BFe X Tl B 2.0
“%. Project Explorer 23] ® = 0|® Bytecode]Hierarchy|'ﬁ‘ Bytecode/Disassembly Source 2 [¥] )ch<Unbound>|® apk<Unbound>| = =0

v 2 C\Users\admin\Desktop\* for(vo = argd.intvalus () v < this.o.dengthy +ev0) {
a.a.add(this.c[v0]);

~ @ easyjava.apk 1

v [0 easyjava.apk

[ Manifest for(v0 = 0; v0 < argB.intValue(); ++v0) {
= Certificate a.a.add (this.c[v0]);
= 1

> I Bytecode }

» = Resources
public char a(Integer arg5) {

char v0_1;

int w0 = 0;

Tnteger vl = Integsr.valueOf (0);

if (arg5.intValue () == -10) {
a.al);
v 1 = " ".charAt(0);
1
else |
while (v0 < a.a.size() - 1) {
if(a.a.get(v0) == arg3) {

vl = Integer.valueof (v0);

1

++v0;

1

a.al);
v0_1 = a.b.charAt(vl.intValus());
1

return v0_1;

}

public statiec wveoid al() {
a.d = Integer.valueof (a.d.intValue() + 1);

if(a.d.intValue() == 25) {
< >
Description {Sourcel
B Logger Sﬂf—'(ﬁonsole| - B
< > ~
|Fi|ter: type "Enter" to validate | < > v

coord: (0,4,0) | addr: Lcom/a/easyjava/a; | loc: ?




JEB2 - C:\Users\admin\Desktop\XCTF\easyjava.apk

i 88 Navigation {73 Debugger & FEE)
GE& |0 d =] P | & | | %

*%: Project Explorer 22| 5 = 0O Bytecode/Hierarchy | Bytecode/Disassembly [J] a/Source 2 [ xml<Unbound> | [ apk<Unbound>

- = [
v 12 C\Users\admin\Desktop\X* package com.a.sasyjava;
~ @ easyjava.apk

_ import java.util.ArrayList;
v [0 easyjava.apk
[¥] Manifest public class a {
= Certificate public static 2 Tist a;

Bytecode

= Resources

static [
a.a
a.b

a.d n =r. ; ‘\
} -

publie a(Tn
super(};
this.c = new Integer[]{Int

int w0;

er.valueof (16), Int

r.valus0Of (21), Intege:

for(v0 = argB.intValue(); v0 < this.c.length; ++v0) {
a.a.add(this.c[v0]);

}

for(v0 = 0; v0 < arg8.intValue(); ++v0) {
a.a.add(this.c[v0]);
}
}

char v0_1;
int w0 = 0;

Integer vl = Integer.valueOE(0);
if (argS.intvValue () == -10) {
a.all;
vo 1 = .charat (0) ;
< >
Description Source
El Logger & & Console - B
< > ~
v
|Fi\ter: type "Enter" to validate |

coord: (0,4,0) | addr: Lcom/a/easyjava/a; | loc: ?

6. LHEJLP R EAVART ZapkififlagmFEHifE, ERiflag, FERMBENT, BEMABRBLEROT:

FEHEC\Windows\System32\cmd.exe




REMNAE: (EXRpythonfkA3.68t% 5 L)

cipherText = 'wigwrkaugala'

aArray = [21,4,24,25,20,5,15,9,17,6,13,3,18,12,10,19,90,22,2,11,23,1,8,7,14,16]
aString = 'abcdefghijklmnopgrstuvwxyz'

bArray = [17,23,7,22,1,16,6,9,21,0,15,5,10,18,2,24,4,11,3,14,19,12,20,13,8,25]
bString = 'abcdefghijklmnopqgrstuvwxyz'

def changeBArrayandString():
global bString

global bArray

chArray = bArray[0]

chString = bString[0:1]

for i in range(len(bArray) - 1):
bArray[i] = bArray[i + 1]
bArray[len(bArray) - 1] = chArray
bString = bString[1:]

bString += chString

def getBchar(ch):

v2 = bArray[ch]

arg = bString[v2]
changeBArrayandString()
return arg

def getAint(ch):

global aString

global aArray

vl = aString.index(ch)
arg5 = aArray[vl]
return arg5

print('flag{',end="")
for k in cipherText:

vo = getAint(k)
print(getBchar(v@),end="")
print('}")
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